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1. Choose the correct answer : (any six)
1x6=6

u% BeI0! AR Sferedl ¢ (Rirerar =)

(a) How many terms are there in a logical
proposition ?

G5 TR TS (I 2% ANF 2
(i)  One (40))
(i) Two (751)
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(i) Three (ffisy)
(iv) Four (5135y)

b 3
(b) The validity of an argument depends

B! 3T et M g

() Form (W)
() Matter (Soiimp)

(i) Form and matter (WW@W)
(iv) Truth (Teret)
(c) In ‘A’ Proposition which term is
distributed ?

A’ BAS IS o e

() Subject (Brmy)

() Predicate ()

(iii) Both subject and predicate
iR SRS —

(v) Copula (iktares)

63/1 (SEM-1) GE1/Dsc/
PHLHG 1016/PHLRC 1016/pL, 2

(d) How many logical constants are there

in symbolic logic ?

YOIPIYS TFRRITS (3, AP THR SRBI]
ok Qme

(i) Two (T

(i) Three (fF)

(iii) Four (51R)

(iv) Five (45)

(e) Conversion is a kind of -

ARG T GF AP —

(i) Inductive inference
NIRECRCORI]

(ii) Only deductive inference
NG WA S

(iii) Mediate deductive inference
Mg o S

(iv) Immediate deductive inference

SR ol S
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(/  How many types of truth-function are

(9)

(h)

there in symbolic logic ?

ST SHRIETS (2 AT IGJ-T SR ?
(i) Three (ff)

(i) Four (5IfF)

(iii) Five (s5)

(iv) Six (=)

Which of the following is changed in
an obversion ?

eifedq o wffda =t w2

(i) Quality (&)

(i) Quantity (sRW)

(iii) Both quality and quantity
a9 I SART Tory

(iv) Subject term (ST 2I%)

When an implicative function becomes
false ?

5 NizwIds T (ot sprer 232

(i) If the antecedent is true and
consequent is false.

M ol ol 7 W o Ny =
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(%)

0)

(i) If the antecedent is false and
consequent is true.

I A< e o Sl 376t = |

(iii) If both antecedent and consequent
are true.

M sl o Sigel et Al 2 |

(iv) If both antecedent and consequent
are false.

T o451 oI ot e fm @@
‘CESARE’ is a valid mood of ____ figure.
‘CESARE’ ___ FKEFE <5 34 IS |
(i) First (2T)

(i) Second (&SH)
(iii) Third (TSR)
(iv) Fourth (voe)

How many types of logical fallacies are
there ? '

SR (T A TS (TR AP ?
) Two (72

(i) Three (fo@)

(iii) Four (5ifR)

(iv) Five (fi5)
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2. Answer the following questions : (any five)

2x5=10

O eHTAIRT Bel i ¢ (Ricetzat <i5h)

(@)

(b)

()

(d)

(e)

(9)

What is a proposition ?
P FIF QM 2

Give an example of sound argument.

12 Y& Gt SvrRe |

What do you mean by conversion ?

e et ofi [ et e

Write the names of valid moods of the
first figure.

AT AT (3 S (25T AW o7l |

Distinguish between proposition and
sentence.

T T IAFR e oAt B

What do you mean by figure of
syllogism ?

WIS 7} e & 3@e

What do you mean by existential

import ?

SEGETe S I & e e
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3. Answer the following questions : (any six)
S5x6=30
eTq ePETRE ©es WAl 2 (fErizan gFbt)
(a) What do you mean by distribution of
terms ? Which term is distributed in
‘E’ and 4’ proposition ?
AT el e [ J@ e B Wi e
(B 2w g2
(b) Write a short note on the development
of modern logic.

ST SR Reme [a o 5y Gt
|

(c) What is obversion ? Mention the rules
of obversion.

e T @A ? efeadna oA Brae
91

(d) Distinguish between truth and validity.
P! TE (ISl Mere Al oy |

(e) Write short note on Venn diagram.
(o oa ITF 55 (it foralt |

(f) Discuss briefly about traditional square
of opposition.

Ariiore Reifdeorps oitram [aw st

AN 1Y |
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(g) Discuss the mechanism in the idea of
shorter truth-table method.
5] Feorel-SifeRsl 5197 I AT F=ATE SN
Sl

(h) What do you mean by contraposition ?
What are the steps involved in the
contraposition ?
RS e 7 g2 TRTETS T 2
SR & e

(i) Distinguish between statement and
statement form.

AR S AT S Were 2wy A

() What is truth-function. Mention the
truth-table for implicative function.

Teyol-Tew e & goe Fieids wae
Forel ifeel agS T |

4. Answer any two of the following questions :
10x2=20

oo Rl 751 e Te T 8
(a) What is syllogism ? Discuss about the
rules of syllogism.

i e WiEE FESEe A S F49 |
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(b) What do you mean by truth-table ?
Construct truth-table for the following
functions and find out whether they
are tautology, contradictory or
contingent : 2+8=10
sepe! wiferl JeTeet 9 el 2 wote [l TR
Tere! el 910 T W TN FOA,
Fo:RYl @ FRWE-NA-RMAE o Fefa 3 3

i) ~pv(~p>~q)

(@ (p-a)>(~pva)

(¢) Transform the following ordinary
sentences into logical propositions :

Y 2x5=10
©eTS W AL AT CH RS ToACe
HAEI 4 ¢
(i) Most of the people are not happy.
I SCRE. g T |
(ii) Every man can do this.
YrOiT WCE B! BRI AT |
(i) Philosophers are respected
everywhere.
iR wide SIS =
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(d)

(iv) Only virtuous man are happy.

@< L e 74|
(v) Generally teachers are punctual.
AYRITS Free FEaRRe! |

What do you mean by term ? Discuss
about the distribution of terms in A, E,
1 and O proposition.

s 3fee [ I A, E, 1 ©% 0 /1 77<
PIAFS! T S 4 |

Answer any one of the following questions :

14x1=14

©od [l @bl o] Tag ol g

(@)

(b)

What do you mean by informal faﬂécy ?
Explain the various forms of informal
fallacies. 4+10=14

SRS Sigeleife 3o [ g ¢ Rifew gaee

" o il o beatorih ar i
GAGIEF BTSN ARG 4

What is mood of syllogism ? Discuss
about the valid moods of the first figure
with example.

TR Rom 3 @i AL RS (9

A s S & e 4
Y[ VIR (A0S HCHADA 1
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()

By using Venn diagram, test the validity
of the following arguments : 7+7=14

e o 7R TR wore i e e
5" 1 2

() All men are mortal.
All philosophers are men.

. All philosophers are mortal.
T MR T TP |
e wEE =3 W
<. RRCE! w7 TR |
(i) All swans are white.

Some birds are not swans.

. Some birds are not white,
RN AT T 0 |

e 51 72w AT |

- fogam 5313 Tz 39|
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